

Problem 11: Generators of $SO(3)$ on $L^2(\mathbb{R}^3)$

①

a) From Problem 10 we know

$$\exp\{-i\delta\alpha^a L_a\} = L_a^2 (\cos(\delta\alpha^a) - 1) + 1 - i L_a \sin \delta\alpha^a \\ \approx 1 - i\delta\alpha^a L_a + O((\delta\alpha^a)^2)$$

$$\approx g(\vec{\delta\alpha}) \approx 1 - i \sum_{a=1}^3 \delta\alpha^a L_a + O(\delta\alpha^2)$$

$$= 1 + \begin{pmatrix} 0 & -\delta\alpha^3 & \delta\alpha^2 \\ \delta\alpha^3 & 0 & -\delta\alpha^1 \\ -\delta\alpha^2 & \delta\alpha^1 & 0 \end{pmatrix} + O(\delta\alpha^2)$$

$$\begin{aligned} \text{b)} \quad \vec{\delta\vec{x}} = \vec{x}' - \vec{x} &= \begin{pmatrix} 0 & -\delta\alpha^3 & \delta\alpha^2 \\ \delta\alpha^3 & 0 & -\delta\alpha^1 \\ -\delta\alpha^2 & \delta\alpha^1 & 0 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} \\ &= \begin{pmatrix} -x_2 \delta\alpha^3 + x_3 \delta\alpha^2 \\ x_1 \delta\alpha^3 - x_3 \delta\alpha^1 \\ -x_1 \delta\alpha^2 + x_2 \delta\alpha^1 \end{pmatrix} =: \begin{pmatrix} \delta x^1 \\ \delta x^2 \\ \delta x^3 \end{pmatrix} \end{aligned}$$

$$\approx X_1 = - \sum_{k=1}^3 \frac{\delta x_k}{\delta\alpha^1} \partial_k = x_3 \partial_2 - x_2 \partial_3$$

$$X_2 = - \sum_{k=1}^3 \frac{\delta x_k}{\delta\alpha^2} \partial_k = x_1 \partial_3 - x_3 \partial_1$$

$$X_3 = - \sum_{k=1}^3 \frac{\delta x_k}{\delta\alpha^3} \partial_k = x_2 \partial_1 - x_1 \partial_2$$

$$\approx \vec{X} = -\vec{x} \times \vec{\nabla}, \quad \vec{P} = \frac{\hbar}{i} \vec{\nabla}$$

$$\underline{\underline{\vec{X} = \frac{1}{i\hbar} \vec{L}}} \quad \text{with} \quad \vec{L} = \vec{x} \times \vec{P}$$

(2)

$$c) X_i = -\epsilon_{ijk} x_j \partial_k$$

 $\wedge$

$$\underline{[X_i, X_j]} = \epsilon_{iem} [x_e \partial_m, x_k \partial_n] \epsilon_{jkn}$$

$$[x_e \partial_m, x_k \partial_n] = x_e \partial_m x_k \partial_n - x_k \partial_n x_e \partial_m$$

$$= x_e (\delta_{km} + x_k \partial_m) \partial_n - x_k (\partial_{ne} + x_e \partial_n) \partial_m$$

$$= \delta_{km} x_e \partial_n - \delta_{ne} x_k \partial_m$$

$$[X_i, X_j] = \epsilon_{iem} \epsilon_{jkn} (\delta_{km} x_e \partial_n - \delta_{ne} x_k \partial_m)$$

$$= \epsilon_{iek} \epsilon_{jnn} x_e \partial_n - \epsilon_{iem} \epsilon_{jne} x_k \partial_m$$

$$= \epsilon_{ime} \epsilon_{jne} x_k \partial_m - \epsilon_{iek} \epsilon_{jnk} x_e \partial_n$$

Property of ϵ -Tensor: $\epsilon_{ijs} \epsilon_{ken} = \delta_{ik} \delta_{je} - \delta_{ie} \delta_{jk}$
sum over n?

$$= (\delta_{is} \delta_{mk} - \delta_{ik} \delta_{ms}) x_k \partial_m - (\delta_{is} \delta_{en} - \delta_{in} \delta_{es}) x_e \partial_n$$

$$= \delta_{in} \delta_{je} x_e \partial_n - \delta_{ik} \delta_{jm} x_k \partial_m$$

$$= (\delta_{im} \delta_{jk} - \delta_{ik} \delta_{jm}) x_k \partial_m = \epsilon_{ijr} \epsilon_{mkr}$$

$$= \epsilon_{ijr} \epsilon_{mkr} x_k \partial_m = \epsilon_{ijr} (-\epsilon_{rkm} x_k \partial_m)$$

$$= \underline{\epsilon_{ijr} X_r} \quad \wedge \quad \underline{C_{ij}^r = \epsilon_{ijr}}$$

(3)

Cartan-Metric:

$$\begin{aligned}
g_{\mu\mu} &= C_{\mu r}^s C_{es}^r \\
&= \epsilon_{\mu rs} \epsilon_{esr} = -\epsilon_{\mu rs} \epsilon_{ers} \\
&= -(\delta_{\mu e} \delta_{rr} - \delta_{\mu r} \delta_{re}) \\
&= -(3\delta_{\mu e} - \delta_{\mu e}) = -2\delta_{\mu e}
\end{aligned}$$

$$\approx g^{\mu\mu} = \begin{pmatrix} -\frac{1}{2} & 0 & 0 \\ 0 & -\frac{1}{2} & 0 \\ 0 & 0 & -\frac{1}{2} \end{pmatrix}, \quad g_{\mu\mu} = \begin{pmatrix} -2 & 0 & 0 \\ 0 & -2 & 0 \\ 0 & 0 & -2 \end{pmatrix}$$

Casimir-Operator: $C := g^{\mu\mu} X_\mu X_\mu$

$$= -\frac{1}{2} \vec{X}^2 = \underline{\underline{\frac{1}{2\hbar^2} L^2}}$$

Problem 12: Generators of $SO(4)$ on $L^2(\mathbb{R}^4)$ General considerations: Let $L_{\mu\nu} := X_\mu \partial_\nu - X_\nu \partial_\mu$ with $X_\mu = (x_1, \dots, x_n) \in \mathbb{R}^n$ obviously $L_{\mu\nu}$ is generator of rotation in μ - ν -plane $\approx$ set of all $L_{\mu\nu}$ generate rotations in $\mathbb{R}^n \approx$ form $SO(n)$ Let's first construct the general algebra soeml formed by $L_{\mu\nu}$'s

(4)

$$\begin{aligned}
[L_{\mu\nu}, L_{\sigma\tau}] &= (x_\mu \partial_\nu - x_\nu \partial_\mu)(x_\sigma \partial_\tau - x_\tau \partial_\sigma) - (x_\sigma \partial_\tau - x_\tau \partial_\sigma)(x_\mu \partial_\nu - x_\nu \partial_\mu) \\
&= x_\mu \partial_\nu x_\sigma \partial_\tau - x_\mu \partial_\nu x_\tau \partial_\sigma - x_\nu \partial_\mu x_\sigma \partial_\tau + x_\nu \partial_\mu x_\tau \partial_\sigma \\
&\quad - x_\sigma \partial_\tau x_\mu \partial_\nu + x_\sigma \partial_\tau x_\nu \partial_\mu + x_\tau \partial_\sigma x_\mu \partial_\nu - x_\tau \partial_\sigma x_\nu \partial_\mu \\
&= x_\mu (\delta_{\nu\sigma} + x_\sigma \overset{2}{\partial_\nu}) \partial_\tau - x_\mu (\delta_{\nu\tau} - x_\tau \overset{4}{\partial_\nu}) \partial_\sigma - x_\nu (\delta_{\mu\sigma} + x_\sigma \overset{3}{\partial_\mu}) \partial_\tau + x_\nu (\delta_{\mu\tau} + x_\tau \overset{1}{\partial_\mu}) \partial_\sigma \\
&\quad - x_\sigma (\delta_{\tau\mu} + x_\mu \overset{2}{\partial_\tau}) \partial_\nu + x_\sigma (\delta_{\tau\nu} + x_\nu \overset{3}{\partial_\tau}) \partial_\mu + x_\tau (\delta_{\sigma\mu} + x_\mu \overset{4}{\partial_\sigma}) \partial_\nu - x_\tau (\delta_{\sigma\nu} + x_\nu \overset{1}{\partial_\sigma}) \partial_\mu \\
&= \delta_{\nu\sigma} (x_\mu \partial_\tau - x_\tau \partial_\mu) - \delta_{\nu\tau} (x_\mu \partial_\sigma - x_\sigma \partial_\mu) - \delta_{\mu\sigma} (x_\nu \partial_\tau - x_\tau \partial_\nu) \\
&\quad + \delta_{\mu\tau} (x_\nu \partial_\sigma - x_\sigma \partial_\nu) \\
&= \underline{\delta_{\nu\sigma} L_{\mu\tau} - \delta_{\nu\tau} L_{\mu\sigma} - \delta_{\mu\sigma} L_{\nu\tau} + \delta_{\mu\tau} L_{\nu\sigma}} \quad (*)
\end{aligned}$$

so(n)-algebra!

a)

Now $n=4$ and $(x_1, x_2, x_3, x_4) = (x, y, z, t) \in \mathbb{R}^4$

$$M_1 = L_{32}, \quad M_2 = L_{13}, \quad M_3 = L_{21}$$

$$N_1 = L_{14}, \quad N_2 = L_{24}, \quad N_3 = L_{34} \quad (\text{A } N_i = L_{i4})$$

$$\begin{aligned}
\approx \left. \begin{aligned} [M_1, M_2] &= [L_{32}, L_{13}] \stackrel{(*)}{=} L_{21} = M_3 \\ [M_2, M_3] &= [L_{13}, L_{21}] \stackrel{(*)}{=} L_{32} = M_1 \\ [M_3, M_1] &= [L_{21}, L_{32}] \stackrel{(*)}{=} L_{13} = M_2 \end{aligned} \right\} \underline{[M_i, M_j] = \epsilon_{ijk} M_k}
\end{aligned}$$

$$\begin{aligned}
\approx \left. \begin{aligned} [M_1, N_1] &= [L_{32}, L_{14}] \stackrel{(*)}{=} 0 \\ [M_2, N_2] &= [L_{13}, L_{24}] \stackrel{(*)}{=} 0 \\ [M_3, N_3] &= [L_{21}, L_{34}] \stackrel{(*)}{=} 0 \end{aligned} \right\} \underline{[M_i, N_i] = 0}
\end{aligned}$$

$$\left. \begin{aligned} [M_1, N_2] &= [L_{32}, L_{24}] = L_{34} = N_3 \\ [M_2, N_3] &= [L_{13}, L_{34}] = L_{14} = N_1 \\ [M_3, N_1] &= [L_{21}, L_{14}] = L_{24} = N_2 \\ [M_1, N_3] &= [L_{32}, L_{34}] = -L_{24} = -N_2 \\ [M_2, N_1] &= [L_{13}, L_{14}] = -L_{34} = -N_3 \\ [M_3, N_2] &= [L_{21}, L_{24}] = -L_{14} = -N_1 \end{aligned} \right\} \underline{[M_i, N_j] = \epsilon_{ijs} N_s}$$

$$[N_i, N_j] = [L_{i4}, L_{j4}] = -L_{is} = L_{sj} = \underline{\epsilon_{ijs} M_s}$$

b) $J_u := \frac{1}{2} (M_u + N_u)$

$$\begin{aligned} \sim 4 [J_u, J_e] &= [M_u + N_u, M_e + N_e] \\ &= [M_u, M_e] + [M_u, N_e] + [N_u, M_e] + [N_u, N_e] \\ &= \epsilon_{uem} M_m + \epsilon_{uem} N_m - \epsilon_{uem} N_m + \epsilon_{uem} M_m \\ &= \epsilon_{uem} (2M_m + 2N_m) = 4 \epsilon_{uem} J_m \end{aligned}$$

$$\Rightarrow \underline{[J_u, J_e] = \epsilon_{uem} J_m} \quad \text{see Problem 11c) } \text{so(3) algebra}$$

$$K_i := \frac{1}{2} (M_i - N_i)$$

$$\begin{aligned} \sim 4 [K_i, K_j] &= [M_i - N_i, M_j - N_j] = [M_i, M_j] - [M_i, N_j] - [N_i, M_j] + [N_i, N_j] \\ &= \epsilon_{ijs} M_s - \epsilon_{ijs} N_s + \epsilon_{jis} N_s + \epsilon_{jis} M_s \\ &= 2 \epsilon_{ijs} (M_s - N_s) = 4 \epsilon_{ijs} K_s \\ \Rightarrow [K_i, K_j] &= \epsilon_{ijs} K_s \quad \text{so(3)} \end{aligned}$$

$$\begin{aligned} [J_i, K_j] &= [M_i + N_i, M_j - N_j] = [M_i, M_j] + [N_i, M_j] - [M_i, N_j] - [N_i, N_j] \\ &= \epsilon_{ijs} M_s - \epsilon_{jis} N_s - \epsilon_{ijs} N_s - \epsilon_{jis} M_s = \underline{0} \end{aligned}$$

decoupled! $\leadsto \text{so}(4) = \text{so}(3) \oplus \text{so}(3)$

(6)

Casimir op. of $so(4) \Leftrightarrow 2$ Casimir op. of $so(3)$

$$\wedge \quad \vec{J}^2 = J_1^2 + J_2^2 + J_3^2 \quad \text{is Casimir of first } so(3)$$

$$\vec{K}^2 = K_1^2 + K_2^2 + K_3^2 \quad \text{is Casimir of second } so(3)$$

$$\Rightarrow \quad \vec{J}^2 = \frac{1}{4} (\vec{M} + \vec{N})^2 = \frac{1}{4} (\vec{M}^2 + \vec{M} \cdot \vec{N} + \vec{N} \cdot \vec{M} + \vec{N}^2)$$

$$\vec{M} \cdot \vec{N} = \vec{N} \cdot \vec{M} \quad \text{as } [M_i, N_i] = 0$$

$$= \frac{1}{4} (\vec{M}^2 + 2\vec{M} \cdot \vec{N} + \vec{N}^2)$$

$$\vec{K}^2 = \frac{1}{4} (\vec{M} - \vec{N})^2 = \frac{1}{4} (\vec{M}^2 - 2\vec{M} \cdot \vec{N} + \vec{N}^2)$$

$$\wedge \quad \left. \begin{aligned} \vec{M} \cdot \vec{N} &= \frac{\vec{J}^2 - \vec{K}^2}{2} \\ \frac{1}{2} (\vec{M}^2 + \vec{N}^2) &= \vec{J}^2 + \vec{K}^2 \end{aligned} \right\} \begin{aligned} &\text{const for UIR of both } so(3) \\ &\text{let } (j, k) \text{ denote such UIR} \\ &j, k = 0, \frac{1}{2}, 1, \frac{3}{2}, \dots \end{aligned}$$